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3. 0°<x<90° ¥, o F &2 ALY
@ -1<cosx<0 @OSSinxsl
® 0<tanx<1 @ -2 <sinx< -1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0
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Zte sin cos tan

34° 0,5592 0,8290 0.6745
35° 0,5736 0,8192 0,7002
36° 0.5878 0.8090 0.7265

Z
2 36° = — = 0.8090
(2) cos 5
. z=50x%0.8090 = 40.45




sin45° = —— =
V2
sin30°=f— =
y |y
L 2x—-y=14-14=0




6. 45°<x<90° ¥, \/(1-tanx)? 2] Gt2?

@D 1-tanx @ tanx+1 @tanx—l
@ 1 ® 0

45° < x < 90° ¥ ], tan45° < tanx ©]E = tan x > 1 ©|t}.

mWEhA 1 —tanx < 0 ©]2, /(1-tanx)?2 = —(1 - tanx) =
—1 + tan x ©]t}.




e sin cos tan

44 0.6947 0.7193 0.9657

45 0,7071 0,7071 1,0000

46 0,7193 0,6947 1,0355
@ 1.022 (@)6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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@ (4V3+1)m @(3\/§+3)m

® (4V3-1)m

Ste] =olE h 2 otH

/CBH = 45° o]0 2 BH = h

(CAH = 30° 0|2 &

64+h:h=+v3:1, V3h=6+h

(V3-1)h=6
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S h=
V3-1

=3(V3+1) =3V3+3(m)
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g} 5la, AB = 4cm, /BAC = 30° A -.‘0 B D
~-4cm-

2w, ACBD ¢] {o|=?

D 2v2 (cm?) (@)\/5 (cm?) 3 3v2 (cm?)
@ 33 (cm?) ® 5 (em?)

S5 ~
(BCD = /BAC =30°

/ACB =90° ©|E22 /ABC =60°

ACBD ©] A

/BDC = /CBA - /BCD = 60°-30° =30°

- 1
BD:BC:4Sin30°:4X§:2 (cm)
- (ACBDE] Hol)
:%x2x2><sin(180°—120°)

~ VB (em?)
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@24 3cm? @ 48cm?
® 48V2cm?
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AABC = — x AC x BC xsin(180° — 120°)
V3

:—><12x8><?
= 24 V3(cm?)

| =N =




12, o& I2"HAAM x -y o gt F5HH? A
(2, sin 55° = 0.82, cos55° = 0.57)

@2 o1 0O%
@ 8 ® 10

B ~

=0.82 0|22 x = 6.56

sin 55° =
cosb5° = = = 0.57 |22 y = 4.56

kA, x —y = 6.56 — 4.56 = 2 O]},
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13. 9&ols UF9] =ol& dot i1l o3 11
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ot 2 7+9o] 715 At F&ol9 =xol7t
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@ 84m )10.1m
@ 18.4m ® 20.5m

BC =10tan40° = 8.4(m) °|2&
LHR9] 20l 8.4 + 1.7 = 10.1(m) otk
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- V3+2
Al = tan(90° — 45°) + tan(90 ° — 60 °)
_ V3 +2
~ tan45°+ tan30°
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AABO :%XGXGXSinﬁﬂc’
V3

=lx6x6x—
=93 (cm2)
L (B8AEY] Wel) =9V3x6 =543 (cm?)
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sin A +2cos A
sin A — cos A

tanA = = Q4 of,

DN | =

D 5 @ 3 31
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tanA +2 §+2
tanA -1 1_1
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Zoj7] Alo] B, BAS 27} cos A 2 Lhe F,




18. o2 139] AABC 9|4 sinx 9] 32?2

ABED @ ABAC ©]|B 2 /x = /C
TESHBC = V152 + 82 = 17 o]t}

2HA] sinx = sinC = =3
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19. HAF Al Wizre] 2719 ¥7h1: 20 3 oL, Al 7 5 7P A2

ZYo] 3715 /A 2t & ], sin A : cos A : tan A&7
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D 3v3:3:2V3 @ 3:2vV3:33 ® 2v3:3:3v3
@3:3«/5;2«/3 ® 3:v3:2v3

B )
AZrg o] A Wzhe] 3719 H|7F1:2:3 0|22

Zrol 971= 242 ko, 2k°, 3k° (k = A4 o]t

A7+ o] Al Wzhe] 3719] 2 180° o] B2

k® + 2k° + 3k° = 6k° = 180° ©]Tt.

ke = 30° o]},

1 V3 % olmz

w2tA] sin 30° = 3 cos 30° = - tan 30° =

sinA :cosA :tanA =3:3v3:2v3 o|t}h.
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CA =4cos60° =2

A Cold AB of Hd $49 4 H F se AH =
CA cos45° = 2 o]},
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